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PART/Hkkx – I 
 
1. The device used for measuring electric potential difference between two points in an electrical 

circuit is known as 
 (1) Potentiometer. (2) Ammeter. (3) Galvanometer. (4) Voltmeter. 
 fdlh fo|qr ifjiFk esa nks fcanqvksa ds chp fo|qr foHkokUrj ekius ds fy, iz;qDr midj.k dks dgk tkrk 

gS 
 (1) iksVsaf'k;ksehVj (2) ,sehVj (3) xSYosuksehVj (4) oksYVehVj 
 
2. Which of the following is not a vector quantity? 
 (1) Electric potential (2) Electric field (3) Angular momentum (4) Linear momentum 
 fuEufyf[kr esa ls D;k ,d lfn'k jkf'k ugha gS\ 
 (1) fo|qr foHko (2) fo|qr {ks= (3) dks.kh; laosx (4) js[kh; laosx 
 
3. The rating of a fuse wire is always expressed in 
 (1) ampere volts (2) amperes (3) kWh (4) ampere hours 
 fdlh ¶+;wt dh jsfVax ges'kk _________ esa O;Dr dh tkrh gSA 
 (1) ,sfEi;j oksYV (2) ,sfEi;j (3) kWh (4) ,sfEi;j ?kaVs 
 
4. When the current is passed through an electrolyte, which of the following effects of current will 

it produce?  
 (1) Heating effect (2) Lighting effect  (3) Chemical effect (4) Magnetic effect 
 tc fdlh fo|qr vi?kV~; ls gksdj /kkjk ikj djkbZ tkrh gS rks ;g /kkjk dk fuEufyf[kr esa ls 

dkSu&lk izHkko mRiUu djsxk\ 
 (1) rkiu izHkko (2) izdk'k izHkko (3) jklk;fud izHkko (4) pqacdh; izHkko 
 
5. The insulation on a current carrying conductor is provided to 
 (1) both prevent leakage of current and prevent shock.  
 (2) prevent leakage of current.  
 (3) prevent shock. 
 (4) None of these 
 /kkjk ogu dj jgs fdlh pkyd ij ____________ ds fy, jks/ku iznku fd;k tkrk gSA 
 (1) /kkjk dk {kj.k jksdus vkSj >Vdk yxus ls jksdus&nksuksa 
 (2) /kkjk dk {kj.k jksdus 
 (3) >Vdk yxus ls jksdus 
 (4) buesa ls dksbZ ugha 
 
6. Capacity of a storage battery is measured in_______. 
 (1) Ampere (2) Watts (3) Ampere hour (4) Volts 
  fdlh LVksjst cSVjh dh {kerk dh eki _______ esa dh tkrh gSA 
 (1) ,sfEi;j (2) okWV (3) ,sfEi;j ?kaVk (4) oksYV 
 
7. What is/are the unit(s) of electrical energy?  
 (1) Joule  (2) Electron-volt (3) Kilowatt-hour (4) All these 
  fo|qr ÅtkZ dh bdkbZ D;k gS@gSa\ 
 (1) twy (2) bysDVªkWu&oksYV (3) fdyksokV&?kaVk (4) ;s lHkh 
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8. A switch in the electrical circuit is always connected to the _______.  
 (1) earth wire (2) live wire (3) neutral wire (4) Any of these  
 fo|qr ifjiFk esa ,d fLop ges'kk _______ ls tksM+h tkrh gSA 
 (1) Hkw&rkj (2) ykbo rkj (3) U;wVªy rkj (4) buesa ls dksbZ Hkh 
 
9. Farad is the SI unit of 
 (1) capacitance. (2) electromotive force. (3) electric power. (4) potential difference. 
  Q+SjkM ____________ dh SI bdkbZ gSA 
 (1) la/kkfjrk (2) fo|qr okgd cy (3) fo|qr 'kfDr (4) foHkokarj 
 
10. Which of the following materials is a semiconductor?   
 (1) Silver (2) Copper  (3) Germanium  (4) Aluminum  
  fuEufyf[kr esa ls dkSu&lk inkFkZ ,d v/kZpkyd gS\ 
 (1) pkanh ¼jtr½ (2) rkez ¼rkack½ (3) tesZfu;e (4) ,syqfefu;e 
 
11. An oscillator converts 
 (1) AC to DC.   (2) weak signal to amplified signals. 
  (3) DC to AC of desired frequency. (4) AC voltage to DC voltage. 
  ,d nksfy= _________ esa ifjofrZr djrk gSA 
 (1) , lh dks Mh lh    (2) detksj flxuy dks izof/kZr flxuy 
  (3) Mh lh dks okafNr vko`fÙk dh , lh (4) , lh oksYVrk dks Mh lh oksYVrk 
 
12. A hysteresis motor works on the principle of 
 (1) magnetization of rotor.  (2) eddy current loss. 
  (3) electromagnetic induction. (4) hysteresis loss. 
 ,d 'kSfFkY; ¼fgLVsjsfll½ eksVj __________ ds fl)kar ij dk;Z djrh gSA 
 (1) jksVj ds pqacdu   (2) Hkaoj /kkjk âkl  
 (3) fo|qrpqacdh; izsj.k   (4) 'kSfFkY; âkl 
 
13. Which of the following cannot be used to extinguish an electrical fire? 
 A. Foam B. Water C. Dry powder 
 Choose the correct option: 
 (1) A only (2) B only (3) A and B only (4) A and C only 
 fo|qr ls yxh vkx cq>kus ds fy, fuEufyf[kr esa ls D;k iz;ksx ugha fd;k tk ldrk\ 
 d- Q+kse [k- ikuh x- lw[kk ikmMj 
 lgh fodYi pqusaA 
 (1) dsoy d (2) dsoy [k (3) dsoy d vkSj [k (4) dsoy d vkSj x 
 
14. An electrical earth connection is done to 
 (1) receive constant voltage. (2) reduce shock risk. 
  (3) decrease electricity consumption. (4) reduce resistance. 
 ,d bysfDVªdy Hkw ¼vFkZ½ dusD'ku __________ ds fy, fd;k tkrk gSA 
 (1) vpj oksYVrk xzg.k djus  (2) >Vds dk tksf[ke de djus 
  (3) fo|qr [kir ?kVkus   (4) izfrjks/k ?kVkus 
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15. Metallic casing of electrical apparatus is always earthed to ensure 
 (1) operator's safety. (2) equipment safety. (3) installation safety. (4) None of these 
 ____________ lqfuf'pr djus ds fy, fo|qr midj.k dh /kkrq dh dsflax dh tkrh gSA 
 (1) vkWijsVj dh lqj{kk (2) miLdj dh lqj{kk (3) laLFkkiu dh lqj{kk (4) buesa ls dksbZ ugha 
 
16. For electrical wiring in India, green coloured wire is used for 
 (1) neutral. (2) earth. (3) phase.  (4) None of these 
 Hkkjr esa bysfDVªdy ok;fjax ds fy, gjs jax dh rkj dk iz;ksx __________ ds fy, fd;k tkrk gSA 
 (1) U;wVªy (2) vFkZ¼Hkw½ (3) Q+st+ (4) buesa ls dksbZ ugha 
 
17. What does VTVM stand for? 
 (1) Very Testified Voltmeter (2) Vulcanized Testing Voltmeter 
  (3) Vacuum-Tube Voltmeter (4) Vacuum Tube Vibrating Meter 
  VTVM dk iw.kZ :i D;k gS\ 
 (1) osjh VsfLVQkbM oksYVehVj  (2) oYdukbT+M VsfLVax oksYVehVj 
  (3) oSD;we&V~;wc oksYVehVj  (4) oSD;we&V~;wc okbczsfVax ehVj 
 
18. Which of the following will consume more energy? 
 (1) 1000 W heater for ½ hour (2) 450 W electric iron for 1 hour  
  (3) 100 W lamp for 4 hours   (4) 50 W lamp for 6 hours 
  fuEufyf[kr esa ls D;k T;knk ÅtkZ [kir djsxk\ 
 (1) ½ ?kaVs ds fy, 1000 okWV ghVj (2) 1 ?kaVs ds fy, 450 okWV bysfDVªd vk;ju 
  (3) 4 ?kaVs ds fy, 100 okWV ySEi  (4) 6 ?kaVs ds fy, 50 okWV ySEi 
 
19. A 0.01ohm resistor is connected across a 6 Volts DC source. Calculate the current flowing 

through the resistor? 
 ,d 0.01 vkse izfrjks/kd] ,d 6 oksYV Mh lh lzksr ds vkj&ikj tksM+k x;k gSA izfrjks/kd ls gksdj 

izokfgr gks jgh /kkjk dk eku D;k gksxk\ 
 (1) 500A (2) 600A (3) 120A (4) 180A 
 
20. The property of materials by which they can be drawn into wires is known as______.  
 (1) ductility (2) malleability (3) conductivity (4) elasticity 
  inkFkZ dk og dkSu&lk xq.k/keZ gS] ftlds dkj.k bls rkjksa ds :i esa [khapk tk ldrk gS\ 
 (1) rU;rk (2) vk?kkro/;Zrk (3) pkydrk (4) izR;kLFkrk 
 
21. In case of short circuit, _____ current will flow in the circuit. 
 (1) normal (2) zero  (3) very low  (4) infinite  
  y?kq ifjiFk dh fLFkfr esa ifjiFk esa _____ /kkjk izokfgr gksxhA 
 (1) lkekU; (2) 'kwU; (3) vR;ar U;wu (4) vuar 
 
22. The number of bits in a byte is_______.  
 ,d ckbV esa fdrus fcV gksrs gSa\ 
 (1) 2 (2) 4 (3) 8 (4) 16  
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23. In an induction motor, rotor speed is always_____ the synchronous speed. 
 (1) more than (2) less than (3) equal to (4) None of these 
 fdlh izsj.k eksVj esa] jksVj pky ges'kk rqY;dkfyd pky _______ gksrh gSA 
 (1) ls vf/kd (2) ls de (3) ds cjkcj (4) buesa ls dksbZ ugha 
 
24. The material used for construction of core of a power transformer is usually 
 (1) Aluminum  (2) Brass (3) Copper (4) Silicon steel  
 ikoj VªkaLQ+kWeZj ds dksj ds fuekZ.k ds fy, iz;qDr lkexzh@inkFkZ vke rkSj ij ___________ gksrk gSA 
 (1) ,syqfefu;e (2) ihry (3) rkez (4) flfydkWu LVhy 
 
25. What is the unit of magnetic flux? 
 (1) Coulomb (2) Tesla  (3) Weber (4) Newton 
  pqacdh; vfHkokg ¼¶yDl½ dh bdkbZ D;k gS\ 
 (1) dwykWe (2) VsLyk (3) oscj (4) U;wVu 
 
26. If a fused lamp or a defective fan is to be replaced, what should be the first and safest action? 
 (1) Use rubber gloves    (2) Switch off the main supply  
  (3) Stand on wooden stool  (4) None of these  
 ;fn ,d ¶+;wt gks x;k ySEi ;k [kjkc ia[kk cnyuk gS rks vkidh igyh vkSj lcls lqjf{kr fØ;k D;k 

gksuh pkfg,\ 
 (1) jcj nLrkus dk iz;ksx djuk (2) esu lIykbZ dh fLop can djuk 
  (3) ydM+h ds LVwy ij [kM+s gksuk (4) buesa ls dksbZ ugha 
 
27. Which of the following instruments is used for measuring electrical resistance? 
 (1) Ohmmeter (2) Ammeter (3) Voltmeter (4) Wattmeter 
  fo|qr izfrjks/k dh eki djus ds fy, fuEufyf[kr esa ls fdl midj.k dk iz;ksx fd;k tkrk gS\ 
 (1) vkseehVj (2) ,sehVj (3) oksYVehVj (4) okWVehVj 
 
28. Which of the following elements is used for doping silicon to prepare a P-type semiconductor? 
 (1) Phosphorus (2) Arsenic (3) Antimony (4) Boron  
  ,d P-Vkbi v/kZpkyd cukus ds fy, flfydkWu dk eknu djus esa fuEufyf[kr esa ls fdl rRo dk 

iz;ksx fd;k tkrk gS\ 
 (1) QkWLQksjl (2) vklsZfud (3) ,safVeuh (4) cksjksu 
 
29. The purpose of the cells connected in parallel is to 
 (1) decrease the voltage output. (2) increase the current capacity.  
  (3) increase the voltage output. (4) decrease the internal resistance. 
  lekarj esa tksM+s x, lsy dk iz;kstu gksrk gS 
 (1) oksYVrk vkmViqV ?kVkuk  (2) /kkjk {kerk c<+kuk 
  (3) oksYVrk vkmViqV c<+kuk  (4) vkarfjd izfrjks/k ?kVkuk 
 
30. Fleming’s right-hand rule gives us the direction of 
 (1) motion of the conductor. (2) emf generated in the conductor.  
  (3) magnetic flux produced.   (4) induced current.  
  ¶ysfeax dk nf{k.k&gLr fu;e ____________ dh fn'kk crkrk gSA 
 (1) pkyd dh xfr   (2) pkyd esa tfur bZ ,e ,Q 
  (3) mRiUu pqacdh; vfHkokg ¼¶yDl½  (4) izsfjr /kkjk 
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31. Which type of amplifier has the highest power gain? 
 (1) Common base amplifier  (2) Common collector amplifier   
  (3) Common emitter amplifier  (4) Voltage series feedback amplifier 
  fdl fdLe ds ,safIyQk;j dh 'kfDr yfC/k lcls vf/kd gksrh gS\ 
 (1) dkWeu csl ,safIyQ+k;j   (2) dkWeu dysDVj ,safIyQ+k;j 
  (3) dkWeu ,feVj ,safIyQ+k;j  (4) oksYVst lhjht QhMcSd ,sfIyQ+k;j 
 
32. Which of the following types of instruments is not used for measuring the current?  
 (1) Hot-wire type (2) Electrostatic type (3) Moving coil type (4) Moving iron type 
 fuEufyf[kr esa ls fdl izdkj ds midj.k dk mi;ksx /kkjk ekius ds fy, ugha fd;k tkrk gS\ 
 (1) rIr&rkj (2) fLFkj fo|qr (3) py dqaMyh (4) py yksg 
 
33. Which of the following motors will make least noise? 
 (1) Capacitor motor (2) Universal motor (3) Shaded pole motor (4) Hysteresis motor 
 fuEufyf[kr esa ls dkSu&lh eksVj lcls de 'kksj djsxh\ 
 (1) la/kkfj= eksVj   (2) ;wfuolZy eksVj 
 (3) 'ksMsM iksy eksVj   (4) 'kSfFkY; ¼fgLVsjsfll½ eksVj 
 
34. The reason of fuse not blowing off under short circuit condition is : 
 (1) The fuse rating is too low (2) The fuse rating is too high 
 (3) The fuse rating is medium (4) None of these 
 y?kq ifjiFku dh fLFkfr;ksa esa ¶+;wt ds u mM+ tkus dk dkj.k gksrk gS % 
 (1) ¶+;wt jsfVax dkQh U;wu gS  (2) ¶+;wt jsfVax dkQh mPp gS 
 (3) ¶+;wt jsfVax e/;e gS   (4) buesa ls dksbZ ugha 
 
35. The efficiency of a transformer mainly depends upon 
 (1) stray losses. (2) dielectric losses. (3) copper losses. (4) core losses. 
  fdlh VªkaLQkWeZj dh dk;Zdq'kyrk eq[;r% _____________ âkl ij fuHkZj djrh gSA 
 (1) ok;q&oS|qr (2) ijkoS|qr (3) rkez (4) ØksM 
 
36. Which of the following materials has the lowest resistivity? 
 (1) Aluminum  (2) Silver (3) Copper (4) Gold  
  fuEufyf[kr esa ls fdl lkexzh@inkFkZ dh izfrjks/kdrk lcls U;wu gksrh gS\ 
 (1) ,syqfefu;e (2) jtr¼pk¡nh½ (3) rkez¼rkack½ (4) Lo.kZ¼lksuk½ 
 
37. A battery is used to 
 (1) measure electric current. (2) measure electric potential.  
 (3) safeguard against short circuit. (4) maintain a potential difference. 
  __________ ds fy, ,d cSVjh dk iz;ksx fd;k tkrk gSA 
 (1) fo|qr /kkjk dh eki djus  (2) fo|qr foHko dh eki djus 
 (3) y?kq ifjiFk gksus ij lqj{kk djus (4) ,d foHkokarj cuk, j[kus 
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38. The main function of transformers used in electrical circuits is to change the 
 (1) power factor. (2) frequency. (3) voltage. (4) All these 
  fo|qr ifjiFkksa esa iz;qDr VªkaLQkWeZjksa dk eq[; dk;Z gksrk gS ___________ dks ifjofrZr djukA 
 (1) 'kfDr xq.kd (2) vko`fÙk (3) oksYVrk (4) ;s lHkh 
 
39. What is the use of a switch in an electric circuit? 
 (1) It opens and closes the circuit  (2) It stores the energy  
  (3) It opposes the current  (4) It provides the current 
  fdlh fo|qr ifjiFk esa ,d fLop D;k dke djrh gS\ 
 (1) ;g ifjiFk dks [kksyrh vkSj can djrh gS (2) ;g ÅtkZ dk HkaMkj.k djrh gS 
  (3) ;g /kkjk dk fojks/k djrh gS (4) ;g /kkjk iznku djrh gS 
 
40. Which of the following is a passive component in an electronic circuit? 
 (1) Silicon Controlled Rectifier (SCR)  (2) Inductor 
  (3) Zener Diode   (4) Vacuum Diode 
  fuEufyf[kr esa ls D;k ,d bysDVªkWfud ifjiFk esa ,d fuf"Ø; ¼mnklhu½ ?kVd gS\ 
 (1) flfydkWu fu;af=r fn"Vdkjh (SCR)  (2) izsjd 
  (3) tsuj Mk;ksM   (4) fuokZr ¼oSD;we½ Mk;ksM 
 
41. Which of the following is a conductor of electricity? 
 (1) Mica (2) Sand (3) Glass (4) Tap water 
  fuEufyf[kr esa ls D;k fo|qr dk ,d pkyd gS\ 
 (1) vHkzd (2) jsr (3) dk¡p (4) uy dk ikuh 
 
42. In a DC generator, the generated emf is inversely proportional to 
 (1) number of poles.   (2) speed of armature. 
 (3) pole flux.   (4) number of armature parallel paths. 
 fdlh Mh lh tsujsVj esa tfur bZ ,e ,Q ____________ dk O;qRØekuqikrh gksrk gSA 
 (1) /kzqoksa dh la[;k   (2) vkesZpj dh pky 
 (3) /kzqo vfHkokg ¼iksy ¶yDl½  (4) vkesZpj lekarj iFkksa dh la[;k 
 
43. A JFET has _____ terminal(s). 
 (1) one (2) two (3) three (4) four  
 ,d JFET esa VfeZuy dh la[;k _____ gksrh gSA 
 (1) ,d (2) nks (3) rhu (4) pkj 
 
44. Which of the following is/are electrical hazards? 
 (1) Damaged insulation on wires and broken plugs.  
  (2) Overloaded circuits.  
 (3) Flammable materials near electrical equipment. 
 (4) All these 
 fuEufyf[kr esa ls D;k fo|qr ls tqM+k [krjk gS\ 
 (1) rkjksa ij {kfrxzLr jks/ku vkSj VwVs gq, Iyx 
  (2) ifjiFkksa ij vksojyksM 
 (3) fo|qr midj.k ds fudV Toyu'khy lkexzh 
 (4) ;s lHkh 
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45. Which of the following devices converts electrical energy into sound energy? 
 (1) Microphone (2) Transmitter (3) Loudspeaker (4) None of these  
 fuEufyf[kr esa ls dkSu&lh ;qfDr fo|qr ÅtkZ dks /ofu ÅtkZ esa :ikarfjr djrh gS\ 
 (1) ekbØksQ+ksu (2) VªkalfeVj (3) ykmMLihdj (4) buesa ls dksbZ ugha 
 
46. Which of the following logic gates gives a high output when one or more of its inputs are high? 
 (1) NOR gate  (2) OR gate (3) AND gate  (4) NOT gate 
  fuEufyf[kr esa ls fdl ykWftd xsV dk mPp vkmViqV gksrk gS tc blds buiqV esa ls ,d ;k vf/kd 

mPp gksrs gSa\ 
 (1) NOR xsV (2) OR xsV (3) AND xsV (4) NOT xsV 
 
47. Substances which are weakly attracted by magnets are called________. 
 (1) ferromagnetic (2) diamagnetic (3) paramagnetic (4) None of these 
  os inkFkZ tks pqacdksa }kjk nqcZy rjhds ls vkdf"kZr fd, tkrs gSa] ________ dgykrs gSaA 
 (1) yksgpqacdh; (2) izfrpqacdh; (3) vuqpqacdh; (4) buesa ls dksbZ ugha 
 
48. Which of the following is used for voltage regulation? 
 (1) Potential (2) Zener Diode (3) Relay (4) Fuse 
  oksYVrk fofu;eu ds fy, fuEufyf[kr esa ls D;k iz;ksx fd;k tkrk gS\ 
 (1) foHko (2) tsuj Mk;ksM (3) fjys (4) ¶+;wt 
 
49. In case of alternating current, the current flows 
 (1) only in one direction.  
  (2) in both directions.  
  (3) periodically reverses direction. 
  (4) only in parallel direction.  
  izR;korhZ /kkjk ds ekeys esa % 
 (1) /kkjk dsoy ,d fn'kk esa izokfgr gksrh gS 
  (2) /kkjk nksuksa fn'kk esa izokfgr gksrh gS 
  (3) /kkjk izokg vkof/kd :i ls fn'kk izfrykse dj nsrk gS 
  (4) /kkjk dsoy lekarj fn'kk esa izokfgr gksrh gS 
 
50. The efficiency of a transformer will be maximum when; 
 (1) copper loss = iron loss.  (2) eddy current loss = copper loss. 
  (3) hysteresis loss = eddy current loss. (4) copper loss = hysteresis loss. 
  fdlh VªkaLQkWeZj dh dk;Zdq'kyrk vf/kdre gksxh] tc % 
 (1) rkez âkl = yksg âkl   (2) Hkaoj /kkjk âkl = rkez âkl 
  (3) 'kSfFkY; âkl = Hkaoj /kkjk âkl (4) rkez âkl = 'kSfFkY; âkl 
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PART/Hkkx – II 
 
Directions (Question 51): Choose the option which is the plural form of the given word. 
51. Species 
 (1) Speciesis (2) Specieses (3) Species (4) Speciesies 
 
Directions (Questions 52-53): Choose the option which best expresses the meaning of the given 
idiom/phrase. 
 

52. By leaps and bounds 
 (1) Very quickly (2) Very slowly (3) In detail (4) In short 
 

53. To leave someone in the lurch 
 (1) To come to compromise with someone 
 (2) To annoy someone with one’s behaviour  
 (3) To leave someone guessing about one’s plan 
 (4) To desert someone in difficult times  
 
Directions (Questions 54-55): Choose the most appropriate word which is nearest in meaning to the 
underlined word. 
 

54. The management dismissed the employee because he misbehaved with a lady colleague.  
 (1) retired (2) prevented (3) removed (4) recalled 
 

55. She made an imprudent comment regarding her friend’s dress. 
 (1) judicious (2) tasteful (3) tactful (4) irresponsible  
 
Directions (Questions 56-57): Choose the most appropriate word which is opposite in meaning to the 
underlined word. 
 

56. My brother is in the habit of squandering money.  
 (1) saving (2) discarding (3) wasting (4) throwing  
 

57. The Manager asked Nidhi to accelerate her pace of work. 
 (1) supervise (2) slow (3) impact (4) expedite 
 
Directions (Questions 58-59): Fill in the blank with the most appropriate option out of the given four 
choices. 
 

58. If you had followed the rules, you ____________ disqualified. 
 (1) will not be   (2) would not be 
 (3) will not have been   (4) would not have been 
 

59. Her brother loves to travel and ____________ to visit Goa next year. 
 (1) had plan   (2) have planned 
 (3) is planning   (4) will plan 
 

Directions (Questions 60-61): In each of the following questions, a word has been written in four 
different ways out of which one is correct. Choose the correctly spelt word. 
 

60. (1) Bouquet (2) Buquett (3) Buquette (4) Bouquete 
 
61. (1) Appresiate (2) Appereciate (3) Apreciate  (4) Appreciate  
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Directions (Questions 62-63): In the following questions, the first and last parts of a sentence are 
given and labelled as I and II respectively. The rest of the sentence is broken into four parts labelled 
A, B, C and D. Choose the most appropriate option that forms a complete meaningful sentence. 
 

62. I.  My sister was 
  A. and stay  
  B. when I told her  
  C. very excited 
  D. that she could come with me 
 II.  for a few days in Delhi. 
 (1) CADB (2) CBDA (3) CDBA (4) CABD 
 
63. I.  Newspapers  
  A. information  
  B. have been  
  C. the major source of 
  D. from  
 II.  time immemorial. 
 (1) BADC (2) ABDC (3) BCAD (4) ADCB 
 
64. “World Health Day” is celebrated every year across the world on___________. 
 (1) 15 January (2) 07 April (3) 11 July (4) 06 August  
 ^fo'o LokLF; fnol* gj o"kZ ____________ dks iwjs fo'o esa euk;k tkrk gSA 
 (1) 15 tuojh (2) 07 vizSy (3) 11 tqykbZ (4) 06 vxLr 
 
65. After India’s independence, who is/was the first Chief of Defence Staff of India?  
 (1) Ajit K Doval   (2) Bipin Rawat 
 (3) SHF Manekshaw   (4) KM Cariappa 
 Hkkjr dh vktknh ds ckn ns'k ds igys ^phQ vkWQ fMQsal LVkQ* dkSu gSa@Fks\ 
 (1) vthr ds Mksoky   (2) fcfiu jkor 
 (3) ,l ,p ,Q ekusd'kkW   (4) ds ,e dfjvIik 
 
66. The secretariat of the Association of South-East Asian Nations (ASEAN) which is formed to 

promote regional economic cooperation among South-East Asia is located at_______.  
 (1) Bangkok (2) Jakarta (3) Kuala Lumpur (4) Singapore 
 nf{k.k&iwoZ ,f'k;k esa {ks=h; vkfFkZd lg;ksx dks c<+kok nsus ds fy, xfBr nf{k.k&iwoZ ,f'k;kbZ ns'kksa ds 

la?k ¼vkfl;ku½ dk lfpoky; dgka fLFkr gS\ 
 (1) cSadkWd (2) tdkrkZ (3) Dokykyaiqj (4) flaxkiqj 
 
67. Which is the highest civilian award of India awarded in recognition of exceptional 

service/performance of the highest order in any field of human endeavor? 
 (1) Padma Award (2) Bharat Ratna (3) Ashoka Chakra (4) Arjuna Award 
 euq"; ds iz;kl ds fdlh Hkh {ks= esa mPpre dksfV dh vlk/kkj.k lsok@izn'kZu ds fy, Hkkjr esa iznku 

fd;k tkus okyk loksZPp flfofy;u iqjLdkj D;k gS\ 
 (1) in~e iqjLdkj (2) Hkkjr jRu (3) v'kksd pØ (4) vtqZu iqjLdkj 
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68. Wimbledon Trophy is both men’s and women’s event associated with which international 
sports/games?  

 (1) Lawn Tennis (2) Table Tennis  (3) Boxing (4) Wrestling 
 foEcyMu VªkWQh varjjk"Vªh; [ksy ____________ ls tqM+h iq#"kksa vkSj efgykvksa nksuksa dh izfr;ksfxrk gSA 
 (1) ykWu Vsful (2) Vscy Vsful (3) eqDdsckth (4) dq'rh 
 
69. The popular Sanchi Stupa (Great Stupa), a Buddhist complex is located in the Indian state of 

________.  
 (1) Madhya Pradesh (2) Chhattisgarh (3) Uttar Pradesh (4) Maharashtra 
 lkaph Lrwi ds uke ls e'kgwj ckS) ifjlj Hkkjr ds ______ jkT; esa fLFkr gSA 
 (1) e/; izns'k (2) NÙkhlx<+ (3) mÙkj izns'k (4) egkjk"Vª 
 
70. What is dry ice? 
 (1) Solid hydrogen peroxide (2) Dehydrated ice 
 (3) Solid water   (4) Solid carbon dioxide 
  'kq"d cQZ D;k gS\ 
 (1) Bksl gkbMªkstu isjkWDlkbM  (2) futZfyr cQZ 
 (3) Bksl ty   (4) Bksl dkcZu MkbZvkWDlkbM 
 
71. Which is the largest planet in the solar system? 
 (1) Jupiter (2) Earth (3) Neptune (4) Saturn  
 lkSj ra= esa lcls cM+k xzg dkSu&lk gS\ 
 (1) c`gLifr (2) i`Foh (3) o:.k (4) 'kfu 
 
72. At present, India has how many Union Territories (UTs)?  
 (1) Six (2) Seven (3) Eight (4) None of these 
 Hkkjr esa orZeku esa la?k'kkflr {ks=ksa dh la[;k fdruh gS\ 
 (1) Ng (2) lkr (3) vkB (4) buesa ls dksbZ ugha 
 
73. Which among the following is the smallest Continent in the World? 
 (1) Australia (2) Africa (3) Europe (4) Antarctica  
 fuEufyf[kr esa ls dkSu&lk egk}hi fo'o esa lcls NksVk egk}hi gS\ 
 (1) vkWLVªsfy;k (2) vÝhdk (3) ;wjksi (4) vaVkdZfVdk 
 
74. As per Indian history, who was the founder of Mughal Empire in India? 
 (1) Babur (2) Humayun (3) Akbar (4) Jahangir  
 Hkkjr ds bfrgkl ds vuqlkj Hkkjr esa eqxy lkezkT; dk laLFkkid dkSu Fkk\ 
 (1) ckcj (2) gqek;wa (3) vdcj (4) tgkaxhj 
 
75. During British Raj in India, who was the first Governor-General of Bengal? 
 (1) Warren Hastings   (2) Lord Cornwallis  
 (3) Lord Canning   (4) Lord William Bentinck 
 Hkkjr esa fczfV'k jkt ds nkSjku caxky ds izFke xouZj&tujy dkSu Fks\ 
 (1) okWjsu gsfLVaXl   (2) ykWMZ dkWuZokfyl 
 (3) ykWMZ dSfuax   (4) ykWMZ fofy;e csafVd 
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76. The President of India is 
 (1) the head of the government. (2) the head of the State. 
 (3) the head of the nation.  (4) a monarch. 
 Hkkjr ds jk"Vªifr _________ gksrs gSaA 
 (1) ljdkj ds izeq[k (2) jkT; ds izeq[k (3) ns'k ds izeq[k (4) ,d lezkV ¼jktk½ 
 
77. The difference between a two-digit number and the number formed by reversing its digits is 

always divisible by _______. 
 nks vadksa dh fdlh la[;k vkSj blds vadksa dk LFkku vkil esa cnyus ij izkIr la[;k ds chp varj 

ges'kk _______ ls foHkkT; gksrk gSA 
 (1) 4 (2) 5 (3) 7 (4) 9 
 
 
78. Which of the following numbers is a common factor of 343 and 147? 
 (1) 3 (2) 21 (3) 49 (4) None of these 
 343 vkSj 147 dk lekiorZd fuEufyf[kr esa ls D;k gS\ 
 (1) 3 (2) 21 (3) 49 (4) buesa ls dksbZ ugha 
 
79. A sum of 2580 is divided amongst Nipun and Paridhi in the ratio of 5:7. How much money will 

Nipun get? 
  2580 dh jkf'k fuiq.k vkSj ifjf/k esa 5:7 ds vuqikr esa ckaVh tkrh gSA fuiq.k dks fdruh jkf'k feysxh\ 
 (1) 975 (2) 1165 (3) 1075 (4) 1305 
 
80. Deepak’s age is five times his brother’s age. Their mother’s age is thrice of Deepak’s age. What 

is the ratio of the ages of Deepak’s brother to that of their mother? 
 nhid dh vk;q mlds HkkbZ dh vk;q dh ikap xquk gSA mudh eka dh vk;q] nhid dh vk;q dh rhu xquk 

gSA viuh eka dh vk;q ls nhid ds HkkbZ dh vk;q dk vuqikr D;k gS\ 
 (1) 1:5 (2) 5:1 (3) 2:5 (4) 1:15  
 
81. What is the difference in compound interest on 5,000 for one year at 8% per annum, if in the 

first case interest is compounded yearly and in the other case, interest is compounded half 
yearly? 

 8% okf"kZd nj ij ,d o"kZ ds fy, 5,000 dh jkf'k ij pØo`f) C;kt dh jkf'k esa fdruk varj gksxk 
;fn ,d ekeys esa C;kt okf"kZd vkSj nwljs ekeys esa Nekgh vk/kkj ij fudkyk tkrk gS\ 

 (1) 6 (2) 7 (3) 8 (4) 9 
 
82. What is the percentage increase in the area of a square, if each side of the square is increased by 

10%? 
 ;fn fdlh oxZ dh izR;sd Hkqtk esa 10% dh o`f) dj nh tk, rks ml oxZ ds {ks=Qy esa izfr'kr o`f) 

fdruh gksxh\ 
 (1) 10% (2) 21% (3) 40% (4) 31% 
 
83. Sapan bought a used washing machine for 2500, spent 850 on repairs and sold it at a gain of 

10%. Find the selling price of the washing machine. 
 liu us 2500 esa ,d iqjkuh okWf'kax e'khu [kjhnh] bldh ejEer ij 850 [kpZ fd, vkSj bls 10% 

ykHk ij csp fn;kA okWf'kax e'khu dk foØ; ewY; D;k gksxk\ 
 (1) 3585 (2) 3675 (3) 3685 (4) 3575 
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84. If three consecutive natural numbers p, q and r are such that p<q<r, then the mean of p, q and r is 
______. 

 ;fn rhu Øekxr izkd`r la[;k,a p, q vkSj r ,slh gSa fd p<q<r rks p, q vkSj r dk ek/; D;k gksxk\ 
 (1) p (2) q (3) r (4) 0 
 

85. Manish and Rohit complete a work in 20 days. Rohit alone can do one-fourth of the work in 15 
days. In how many days can Manish alone complete the work? 

 (1) 60 days (2) 30 days (3) 48
7

 days (4) 15 days 

 euh"k vkSj jksfgr fdlh dke dks 20 fnuksa esa iwjk djrs gSaA jksfgr vdsys ml dke dk ,d&pkSFkkbZ Hkkx 
15 fnuksa esa iwjk dj ldrk gSA euh"k vdsys ml dke dks fdrus fnuksa esa iwjk dj ysxk\ 

 (1) 60 fnu (2) 30 fnu (3) 48
7

 fnu (4) 15 fnu 

 

86. A tub can be filled by one tap in 8 hrs and by another in 4 hrs. How long will it take to fill the 
tub if both the taps are opened together? 

 (1) 52
4

 hrs (2) 12
4

 hrs (3) 12
3

 hrs  (4) 22
3

 hrs 

 ,d Vc ,d uy }kjk 8 ?kaVs esa vkSj nwljs uy }kjk 4 ?kaVs esa Hkjk tk ldrk gSA ;fn nksuksa uy ,d 
lkFk [kksy fn, tk,a rks ml Vc dks Hkjus esa fdruk le; yxsxk\ 

 (1) 52
4

 ?kaVs (2) 12
4

 ?kaVs (3) 12
3

 ?kaVs (4) 22
3

 ?kaVs 

 

87. What is the smallest number by which 1080 must be multiplied to make it a perfect cube? 
 1080 esa fdl lcls NksVh la[;k dks xq.kk djus ij ;g ,d iw.kZ ?ku cusxh\ 
 (1) 25 (2) 20 (3) 15 (4) 30 
 

 
88. In what ratio should tea ‘A’ at 12.30 per kg be mixed with tea ‘B’ at 10.50 per kg, so that the 

mixture becomes worth 11 per kg? 
 12.30 izfr fdxzk- dher dh pk; ‘A’ dks 10.50 izfr fdxzk- dher dh pk; ‘B’ ds lkFk fdl vuqikr 

esa fefJr djus ij 11 izfr fdxzk- dher dk feJ.k rS;kj gksxk\ 
 (1)  13:5 (2) 5:9 (3)  5:13 (4)  9:5 
 
89. You walk towards north, take a right turn, then again take a turn right and then go towards left, 

in which direction are you going now? 
 (1) North (2) South (3) East (4) West  
 vki mÙkj dh vksj tkrs gSa] nk,¡ eqM+rs gSa fQj nk,¡ eqM+rs gSa vkSj fQj ckb± vksj tkrs gSa] vc vki fdl 

fn'kk esa tk jgs gks\ 
 (1) mÙkj (2) nf{k.k (3) iwoZ (4) if'pe 
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90. There are five books A, B, C, D and E. C lies above D. E is below A, D is above A, and B is 
below E. Which book is at the bottom? 
ik¡p iqLrdsa A, B, C, D vkSj E gSaA iqLrd C, D ds Åij gSA iqLrd E, A ds uhps] D, A ds Åij vkSj 
B, E ds uhps gSA dkSu lh iqLrd lcls uhps gSA 

 (1) B (2) E (3) A (4) C 
  
91. Which of the following groups of English letters will look the same in the mirror? 
 fuEufyf[kr esa ls vaxzsth v{kjksa dk dkSu lk lewg niZ.k esa leku fn[kkbZ nsxk\ 
 (1) MAHUHAM (2) AOVZVOA (3) HITNTIH (4) VHRTRVH 
 
Directions (Questions 92-94): In each of the following questions, four words are given, out of which 
three are alike in some manner and fourth one is different. Choose the different word.  
funsZ'k (iz'u 92-94): fuEufyf[kr izR;sd iz'u esa pkj 'kCn fn, x, gSa ftlesa rhu fdlh u fdlh :i esa 
,d tSls gSa vkSj pkSFkk ,d vyx 'kCn gS vyx 'kCn pqusaA 
 

92. (1) Raipur (2) Cuttack (3) Ranchi (4) Kolkata 
(1) jk;iqj (2) dVd (3) jk¡ph (4) dksydkrk 

 
93. (1) Asia (2) Europe  (3) South Africa (4) South America  

(1) ,f'k;k (2) ;wjksi (3) nf{k.k vÝhdk (4) nf{k.k vesfjdk 
 
94. (1) Car (2) Bus  (3) Tractor (4) Train  
 (1) dkj (2) cl (3) VªSDVj (4) Vªsu 
 
Directions (Questions 95-97): In each of the following questions, complete the series by replacing ’?’ 
funsZ'k (iz'u 95-97): fuEufyf[kr izR;sd iz'u esa '?’ dh txg lgh fodYi j[kdj Ük`a[kyk dks iwjk djsaA 
 

95. 7, 12, 19, ’?’, 39 
 (1) 29 (2) 28 (3) 26 (4) 24 
 
96. 1, 4, 9, 16, 25, ’?’ 
 (1) 35 (2) 48 (3) 36 (4) 49 
 
97. A, C, F, H, ’?’, M 
 (1) L (2) I (3) J (4) K  
 
Directions (Questions 98-100): In each of the following questions, find the wrong term. 
funsZ'k (iz'u 98-100): fuEufyf[kr izR;sd iz'u esa xyr in pqusaA 
 

98. 24, 27, 31, 33, 36, 39 
 (1) 24 (2) 27 (3) 31 (4) 33  
 
99. 3, 8, 15, 24, 34, 48, 63 
 (1) 15 (2) 34 (3) 48 (4) 63  
 
100. AZ, BY, CX, DW, FV, FU 
 (1) CX (2) DW (3) FU (4) FV  
 


